2017 VARIOUS SITES, HAZARDOUS MATERIAL REMOVAL OVERSIGHT

Enviro-S.T.A.R., Inc. is please to submit the following proposal:

Description	Quantity	Unit Price	Cost
3. Oversight Hazardous Material Abatement ADA Upgrade Restrooms- Hazardous material monitoring (\$70 hour/8 hour shift)	36	\$560.00	\$20,160.00
3a. Laboratory (4 samples/day/lead or asbestos) (36x4=144)	144	\$25.00	\$3,600.00
4a. Oversight Holbrook HS exteriors - Hazardous material abatement monitoring (\$60 hour/8 hour shift)	25	\$560.00	\$14,000.00
4a. Laboratory (4 samples/day/lead or asbestos) (25x4=100)	100	\$25.00	\$2,500.00
		TOTAL	\$40,260.00

If you have any questions, please e-mail or me a call at (925) 285-3717.

Submitted by: Accepted by:

Raph & Segmon

Enviro-STAR

GROUP 2 (SEQUOIA ES, SUN TERRACE ES, & VALLEY VIEW MS)

Enviro-S.T.A.R., Inc. is please to submit the following proposal:

Description	Quantity	Unit Price	Cost
Site survey	3	\$450.00	\$1,350.00
Draft abatement work specifications	3	\$350.00	\$1,050.00
Write bid documents, conduct bid walk, review bids	3	\$300.00	\$900.00
Asbestos abatement monitoring (\$60 hour/8 hour shift) - please multiply the daily rate by the expected duration of abatement work.	1	\$480.00	\$480.00
Closeout documents	3	\$350.00	\$1,050.00
Laboratory - Asbestos PCM or PLM samples	100	\$20.00	\$2,000.00
Laboratory - Lead samples (bulk, wipe, or air)	0	\$25.00	\$0.00
Laboratory - Asbestos TEM air samples (24-hour TAT)	21	\$60.00	\$1,260.00
Overtime (greater than 40 hours week, weekend, holiday are charged at 1 1/2 hourly rate). Any hours/shifts/samples above the numbers used for this proposal will be charged at the quoted rate.		SUBTOTAL	\$8,090.00
		TOTAL	\$8,090.00

If you have any questions, please e-mail or me a call at (925) 285-3717.

Submitted by: Accepted by:

Raph & Segmon

Enviro-STAR 🔎

GROUP 3 (LOMA VISTA EDUCATION CENTER)

Enviro-S.T.A.R., Inc. is please to submit the following proposal:

Description	Quantity	Unit Price	Cost
Site survey	1	\$450.00	\$450.00
Draft abatement work specifications	1	\$350.00	\$350.00
Write bid documents, conduct bid walk, review bids	1	\$300.00	\$300.00
Asbestos abatement monitoring (\$60 hour/8 hour shift) - please multiply the daily rate by the expected duration of abatement work.	1	\$480.00	\$480.00
Closeout documents	1	\$350.00	\$350.00
Laboratory - Asbestos PCM or PLM samples	100	\$20.00	\$2,000.00
Laboratory - Lead samples (bulk, wipe, or air)	0	\$25.00	\$0.00
Laboratory - Asbestos TEM air samples (24-hour TAT)	7	\$60.00	\$420.00
Overtime (greater than 40 hours week, weekend, holiday are charged at 1 1/2 hourly rate). Any hours/shifts/samples above the numbers used for this proposal will be charged at the quoted rate.		SUBTOTAL	\$4,350.00
		TOTAL	\$4,350.00

If you have any questions, please e-mail or me a call at (925) 285-3717.

Submitted by: Accepted by:

Raph & Sugmon

GROUP 4 (CONCORD HIGH SCHOOL ADMINISTRATION)

Enviro-S.T.A.R., Inc. is please to submit the following proposal:

Description	Quantity	Unit Price	Cost
Site survey	1	\$450.00	\$450.00
Draft abatement work specifications	1	\$350.00	\$350.00
Write bid documents, conduct bid walk, review bids	1	\$300.00	\$300.00
Asbestos abatement monitoring (\$60 hour/8 hour shift) - please multiply the daily rate by the expected duration of abatement work.	1	\$480.00	\$480.00
Closeout documents	1	\$350.00	\$350.00
Laboratory - Asbestos PCM or PLM samples	100	\$20.00	\$2,000.00
Laboratory - Lead samples (bulk, wipe, or air)	0	\$25.00	\$0.00
Laboratory - Asbestos TEM air samples (24-hour TAT)	7	\$60.00	\$420.00
Overtime (greater than 40 hours week, weekend, holiday are charge Any hours/shifts/samples above the numbers used for this proposal quoted rate.	SUBTOTAL	\$4,350.00	
		TOTAL	\$4,350.00

If you have any questions, please e-mail or me a call at (925) 285-3717.

Submitted by: Accepted by:

Raph & Segmon